

Individually Personalised Thermal Mugs for staff





Recycled stainless steel tumbler



Metro is a 300ml tumbler where style is created from simplicity. A classic shape perfect for all your favourite beverages. Made with RCS (Recycled Claim Standard) certified recycled materials. RCS certification ensures a completely certified supply chain of the recycled materials. Total recycled content: 37% based on total item weight. BPA free. Capacity 300ml. Including FSC®-certified kraft packaging.

Product Size: 150 x 70 Print Area: 220 x 110mm

Branded with a logo and name (printed)

50 units printed 1 colour wrapped around £10.25 each Total £512.50 + £38.00 Delivery (ex vat)



Recycled PP and SS mug with handle



This GRS Recycled PP and stainless steel mug. Comes with sliding closure lid making this modern mug perfect for enjoying your favourite beverages on the go. Made with GRS certified recycled materials. The inner, lid and handle of the bottle is made from 100% GRS certified PP. GRS certification ensures a completely certified supply chain of the recycled materials. Total recycled content: 60% based on total item weight. BPA free.

Product Size: 152 x 88mm Print Area: 25 x 80mm

Branded with a logo and name (engraved)

50 units engraved on front and back £13.11 each Total £655.50 + £20.00 Delivery (ex vat)



Double walled stainless steel mug



350ml double walled stainless steel travel mug with PP plastic inner in a sleek tumbler style. Features include a clear AS plastic push on lid with sipper. BPA & PVC free.

Product Size: 125 x 95mm Print Area: 40 x 40mm

Branded with a logo and name (engraved)

50 units engraved on front and back £8.49 each Total £424.50 + £20.00 Delivery (ex vat)



Double walled stainless steel mug with plastic liner



550ml double walled, stainless steel tumbler with black PP plastic inner. Clear plastic push on lid with sliding sipper for easy drinking on the go. BPA & PVC free.

Product Size: 168 x 92mm Print Area: 50 x 65mm

Branded with a logo and name (engraved)

50 units engraved on front and back £9.52 each Total £476.00 + £20.00 Delivery (ex vat)



Recycled stainless steel modern vacuum mug with lid



This RCS Recycled stainless steel modern mug features a spill-resistant lid that slides open smoothly to provide the perfect pour. This mug is made with double wall vacuum recycled stainless steel to keep beverages warm for up to 3 hours or cold for up to 6 hours. Made with RCS (Recycled Claim Standard) certified recycled materials. RCS certification ensures a completely certified supply chain of the recycled materials.

Product Size: 130 x 88mm Print Area: 30 x 100mm

Branded with a logo and name (engraved)

50 units engraved on front and back £15.65 each Total £782.50 + £20.00 Delivery (ex vat)



GRS certified recycled PP mug with bamboo lid



This beautiful tumbler with bamboo lid is made with GRS certified recycled PP. GRS certification ensures a completely certified supply chain of the recycled materials. The tumbler features a bamboo lid for on the go usage. Total recycled content: 52% based on total item weight. The body is microwave and dishwasher safe. BPA free. Capacity 300ml. An FSC®-certified kraft box is included.

Product Size: 126 x 82mm

Print Area: 25 x 60mm (print), 65 x 65mm (engraved)

Branded with a logo and name (engraved)

50 units printed 1 colour on front & engraved on lid £10.95 each Total £547.50 + £30.00 Delivery (ex vat)





Available colours:





Antimicrobial coffee tumbler



Available colours



This simplistic designed stainless steel tumbler is not only aesthetically beautiful but is also protected with Biomaster, an Anti-Microbial agent that provides a second line of defence against harmful bacteria. The body and lid are both treated and it's IN the product, not ON the product which will give you permanent protection. With closable lid. PP inner, stainless steel outer. Capacity 250ml.

Product Size: 106 x 85mm Print Area: 245 x 75mm

Branded with a logo and name (printed)

50 units printed 1 colour wrapped around £10.95 each Total £547.50 + £30.00 Delivery (ex vat)



Leak proof vacuum coffee tumbler



Just the right size, a perfect fit for most coffee machines. This vacuum insulated double wall stainless steel design tumbler with silicone band detail. Keeps your drinks hot for up to 5h and cold for up to 15h. Content: 280ml.

Product Size: 137 x 73mm Print Area: 25 x 60mm

Branded with a logo and name (engraved)

50 units engraved on front and back £13.98 each Total £699.00 + £18.00 Delivery (ex vat)



Cork coffee tumbler



Double wall coffee cup with plastic inside and unique cork detail. Keeps your drinks hot for up to 3h and cold up to 6h. Content: 300ml.

Product Size: 123 x 68mm Print Area: 246 x 90mm

Branded with a logo and name (printed)

50 units printed 1 colour wrapped around £12.95 each Total £647.50 + £20.00 Delivery (ex vat)



Copper vacuum insulated tumbler



This 304 stainless steel tumbler has a double-wall vacuum construction with copper insulation which means it keeps drinks hot for 8 hours and cold for 24 hours. The construction prevents condensation on the outside of the tumbler. Easy sipping, push-on lid with slide closure. Content 500 ml. Spill proof & hand wash only.

Product Size: 174 x 85 mm Print Area: 35 x 50mm

Branded with a logo and name (engraved)

50 units engraved front and back £15.95 each Total £798.00 + £15.00 Delivery (ex vat)



Click leak proof travel mug



Clik uses a smart 360 degree drinking lid that can be opened and closed with a simple push. The double wall mug can hold 225ml and with the integrated handle it makes travelling with either hot or cold drinks leak proof. The mug is designed in such a way that the outer stainless steel is easy to take apart for recycling and therefore helps you invest in a cleaner world. BPA free and suited for hand wash.

Product Size: 177 x 73mm Print Area: 33 x 100mm

Branded with a logo and name (engraved)

50 units engraved front and back £13.95 each Total £697.50 + £20.00 Delivery (ex vat)





Prices ex. VAT

Prices valid until 31th December 2023

Thank-you!

Navillus Print Gifts Ltd Tel 020 744 222 11

The Grey Coat Boy 92 Roan Street London SE10 9JT info@print-gifts.com www.print-gifts.com